



### 1.1

Im Dreieck  $AB_1M$  gilt:

$$\cos \varphi = \frac{AM}{AB_1} \quad | \cdot AB_1$$

$$AB_1 \cdot \cos \varphi = AM \quad | : \cos \varphi$$

$$\mathbf{AB_1 = \frac{AM}{\cos \varphi} = \frac{4 \text{ cm}}{\cos 54^\circ} = 6,81 \text{ cm}}$$

### 1.2

$$V_{(\varphi)} = V_{\text{Kegel}} - V_{\text{Halbkugel}}$$

Im Dreieck  $AB_1M$  gilt:

$$\tan \varphi = \frac{B_1M}{AM} \quad | \cdot AM$$

$$B_1M = AM \cdot \tan \varphi = 4 \cdot \tan \varphi$$

$$V_{\text{Kegel}} = \frac{\pi \cdot MB_1^2 \cdot AM}{3} = \frac{\pi \cdot (4 \cdot \tan \varphi)^2 \cdot 4}{3} = \frac{64 \cdot \pi \cdot \tan^2 \varphi}{3} \text{ cm}^3$$

$$V_{\text{Halbkugel}} = \frac{(2 \cdot MC)^3 \cdot \pi}{12} = \frac{(2 \cdot 2)^3 \cdot \pi}{12} = \frac{64 \cdot \pi}{12} = \frac{16 \cdot \pi}{3} \text{ cm}^3$$

$$\mathbf{V_{(\varphi)} = \frac{64 \cdot \pi \cdot \tan^2 \varphi}{3} - \frac{16 \cdot \pi}{3} = \frac{16 \cdot \pi}{3} \cdot (4 \cdot \tan^2 \varphi - 1) \text{ cm}^3}$$

### 1.3

$$\mathbf{V = \frac{16 \cdot \pi}{3} \cdot (4 \cdot \tan^2 54^\circ - 1) = 110,15 \text{ cm}^3}$$